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AP Microeconomics

Unit 8: Efficiency, Equity, and the Government
*Question order is not consistent across assessments.

Lesson 2: Market Failures
Quiz
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Lesson 3: Bring Together Externalities and Public Goods Drop
Sample Work – Teacher Graded

Lesson 4: Distribution of Income
Quiz
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Lesson 5: Concepts of Taxes and Income Distribution Dropbox
Sample Work – Teacher Graded

Lesson 6: Wrap-Up
Test
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Lesson 7: Efficiency, Equity, and the Government Essay Test
Essay Test – Teacher Graded
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+/ Question 1 1 point

Which of the following is an example of  public good?

/(@ A National defense
(O B. Adockona private lake
O c. Arock concert
(O D. Acorporate jet

(O E. Security guards hired by a shopping mall
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+/ Question 2 1 point

Which is not an example of a market failure?

(O A. Acompany uses price-fixing as a method of selling its product.
/@ B. Aneighbor decides to grow vegetables in her backyard garden
(O c. Arefinery emits toxic fumes.

() D. Amarket transaction occurs where either a buyer or seller has some
information that the other doesn't have.

(O E. The government zones some beachfront property to allow public access.
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+/ Question 3 1 point ~

Whats the best definition of a free rider?

(O A Someone who rides public transit for free

/@ B. Someone who enjoys the benefits of a good or service they haverit paid for
() €. Someone who enjoys the benefits of a good or service they've paid for
(O D. Someone who bears the cost of something without enjoying the benefits

(O E. Someone whosn' able to enjoy the benefit of something because they dorit
pay the cost
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+/ Question 4 1 point

Water pollution of a major river ocours because:

/@ A property rights are not clearly defined
(O B. public goods are being produced
() C. itsanegative externality.
(O D. govemment legislation requires .

(O E there are positive externalities.
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+/ Question 5 1 point

When the government grants a license to pollute and the rights to pollute can be bought
and sold, the license is:

(O A agoverment subsidy.

/(@) B. atradable permit
(O . allowing a irm to pollute as much as it wants with no consequences.
(O D. acommand and control device.

(O E. asignal the government is no longer interested in controlling pollution.
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+/ Question 6 1 point

Firms pollute because

() A firm owners are careless with the environment

/(@ B. the cost of pollution to a firm is much smaller than the cost of reducing
pollution to the firm.

C. pollution is a necessary part of production.

D. pollution is generally considered acceptable by the public.

O O O

E. environmental activists fail to stop pollution.
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+/ Question 7 1 point

Of the following, the one most likely to be a positive externality is:

(O A aticket collector at an amusement park
(O B. trash along a hiking trail.
(O . chocolate cookies.

(O D. airpollution.

/(@ E. the smell of chocolate chip cookies from the local bakery.
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+/ Question 8 1 point

The efficient level of pollution abatement is:

() A. where the marginal cost of production equals the marginal revenues of
production.

(O B. when all the pollution is cleaned up.
(O C. where the total cost of production equals the total revenues of production.

/(8 D. where the marginal social benefit of abatement equals the marginal social
cost of abatement.

() E. where the total cost of production equals the total cost of abatement.
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+/ Question 9 1 point

Some government institutions and private organizations are designed to reduce
transaction costs, so it's easier for trade to occur. Which of the following reduces
transaction costs?

() A Weights and scales certification by the government
(O B. Phone books

(O ¢ Publiclibrary

() D. American Automobile Association (AAA)

/(@) E. Allofthe above
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/ Question 10 1 point ~

True or False: A positive externality is a benefit to everyone at alltimes (pick the best
answer and explanation below).

(O A False, because things that are benefits to some people may be costs for
others, such as the smell of garlic.

(O B. True, because a benefit for one person s a benefit for everyone.
() C. False, because things that are benefits today may be costs in the future or
may have been costs in the past. For example, puffing smokestacks used to

be a symbol of economic wealth but are now thought of as pollution.

/@ D. False, because evaluation of benefits is different for different people and at
different times,

() E. False, because a positive externality imposes costs, not benefits.
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+/ Question 1 1 point

The Lorenz curve shows:

(O A the distribution of income levels for each group in the economy.

(O B. thedistribution of progressive and regressive taxes that different income
groups pay.

(O €. what portion of the population is living in poverty.
(O . the proportion of the population that works in different professions.

/@ E. what portions of total money income is accounted for by different
proportions of a nation's households.
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+/ Question 2 1 point

A characteristic of a

A

c.

D.

E

is that the tax rate is the same for all levels of income.

salestax
proportional tax
progressive tax
regressive tax

personal income tax
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+/ Question 3 1 point

An excise tax (a per-unit tax on sales) on tobacco will generate the most tax revenue if:

(O A supplyis unit elastic
(O B. supplyis elastic.
V@ C. demandis inelastic.

(O D. demandis unit elastic

() E. demand s elastic.




image14.png
+/ Question 4 1 point

Which of the following taxes is a regressive tax?

A Gifttax

B. Sales tax

D. Inheritance tax

o
ve®
(O c. Personal income tax
o
o

E. Corporate income tax
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+/ Question 5 1 point ~

Transfer payments are a means the U.S. goverment uses to redistribute income.
Transfer payments are also called entitlements. Which of the following is a transfer
payment?

() A. Only Social Security, Medicare, unemployment insurance, and Aid to Families
with Dependent Children

(O B. Only Social Security
(O c. Only Social Security, Medicare, and unemployment insurance.

/(@ D. Social Security, Medicare, unemployment insurance, Aid to Families with
Dependent Children, and other social welfare programs

(O E. Only Social Security and Medicare




image16.png
+/ Question 6 1 point

Which of the following is a tool the U.S. government uses to make income distribution
more equitable?

() A. Progressive national sales tax
/(8 B. Progressive national income tax

(O C. Regressive national income tax

(O . Government provision of public goods

() E. Federallaws
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+/ Question7 1 point ~

Suppose an excise (or per-unit) tax was put on a specific good and the seller had to send
2 certain amount of money for each unit sold to the government. Which of the following
situations would lead to the greatest increase in the market price?

() A. Demand and supply are both perfectly elastic.

(O B. Demand is relatively elastic and supply i relatively inelastic.
() €. Demand and supply are both relatively elastic.

() D. Demand and supply are both relatively inelastic.

/@ E. Demandis relatively inelastic and supply is relatively elastic.
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+/ Question 8 1 point

What percentage of U.S. households is in each quintile of the income distribution
information provided by the U.S. Census Bureau?

O A 0%
v @ B.20%
O c.25%
O b.15%
O E 5%
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+/ Question 9 1 point

If a person says they pay 28% in income taxes on each additional dollar they earn, this
person means:

() A. their average tax rate on income earned is 28%
(O B. they'reinthe lowest income bracket

/(@) C. their marginal tax rate is 28%.
() D. they're earning an income that's taxed at 28%

(O E. theyie eaming an amount such that the total income they earn minus.
deductions is taxed at 28%.
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+/ Question 10 1 point

Each year the federal government adjusts the official poverty income level on the basis
of.

V@ A food costs.
(O B. basic utility costs.
(O . housing costs.
(O . public transportation costs.

(O E. basic clothing costs.
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+/ Question 1 3 points

By creating institutions that keep the costs of arranging a transaction fairly low, and by
clearly defining which party has the right to use what good or service, the government is:

/(@ A trying to reduce the barriers to trade within an economy.
() B. providing a solution to a negative externality.
(O €. trying to prevent transactions that are harmful to society.
(O D. pursuing alaissez-aire policy.

(O E actingin its role as a regulator of competition.
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+/ Question 2 3 points

The price of admission to Yellowstone National Park, collected by park rangers as you
enterthe park,is a tax.

/(@) A False Itsafes, notatax
(O B. True. Its atax on income.
() C. True Its aluxury tax
() D. True Its a taxon wealth

(O E. True. It's atax on consumption
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+/ Question 3 3 points

Private firms won' supply public goods since:

(O A the government provides allthe public goods the public desires.
() B. private firms are lazy.
() c. private firms are greedy.

/@ D. private firms have no means to collect payment for the use of the public
good,

(O E. itsillegal for private firms to provide public goods.
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+/ Question 4 3 points

Which of the following is nota tax?

/(@ A. Quotas onimports
(O B. The capital gains tax on net income from sales of assets
(O C. State sales taxes on consumption goods
(O . Tariffs on imports

() E. The federal income tax
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+/ Question 5 3 points

Smoke pouring from smokestacks today is a negative externality:

O A
O 8
Oec
O o
v® E

and has always been a negative externality.

but years ago it was a positive externality, as people enjoyed breathing
noxious fumes.

only to environmentalists:
only in the United States.

but years ago it was a positive externality, as a symbol of economic:
prosperity.
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/ Question 6 3 points

ublic goods are:

(O A slithe goods supplied by the government for free use by its citizens.
(O 8. allthe goods everyone has a legal right to use.

(O c. allthe goods supplied by the government, including those goods it charges
for, such as park access in some national parks.

(O . only the goods the government charges for the right to use.

/(@) E. Noneof these
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+/ Question 7 3 points

Freeriders are:

() A greedy people.
B. people who ride the bus for free.

C. lazy people.

® O O

D. people who enjoy the benefits of something without bearing the costs.

(O E. people who enjoy the benefits of something while also bearing its costs.
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+/ Question 8 3 points

Which of the following is rot a source of poverty?

®@ OO0 OO0

A

c.

D.

E

Changes in the economy that bring about recessions and unemployment
Poor job skills

Social inequities such as racial bias

Insufficient education and training

None of these, they all contribute to creating and maintaining poverty.
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+/ Question 9 3 points ~

The government uses the following methods to regulate pollution. Which of these results
inthe most pollution reduction by the firms with the lowest cost of pollution reduction
and the least pollution reduction by the firms with the highest reduction costs?

() A. Legallimits combined with fines, taxes, and tradable permits
O B Legallimits combined with fines and taxes
(O . Legallimits combined with fines

/(8 D. Taxes and tradable permits

(O E. Legallimits combined with fines and tradable permits




image30.png
+/ Question 10 3 points

In economics, poverty means a household:

() A. receives welfare checks
() B. isexcessively poor.

/@ C. does not ear enough to cover basic food and housing expenses.
() . haslittle income.

() E. does not eam enough to cover basic food, housing, and medical expenses
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+/ Question 11 3 points

The scent of cinnamon rolls wafting from a local bakery out to the sidewalk s:

(O A apublic good

(O B. not an extemnality f the bakery didn't intend to send that scent out to the.
sidewalk.

(O C. apositive externality.

/(8 D. either a positive or negative externality, depending on whether you enjoy or
detest the scent

() E. anegative externality.




image32.png
+/ Question 12 3 points ~

Amarket failure is:

() A. when the market outcome imposes a cost on an individual that exceeds the
benefits it reates for society.

() B. easilyidentified and agreed on by all members of society.
(O ¢ asocially undesirable outcome arising from regulated markets.

() D. when the market outcome imposes a cost on society that is less than the
benefits it creates.

/ (® E. asocially undesirable outcome arising from unregulated markets.
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/ Question 13 3 points ~

Aquintile, the categorization of households used by the U.S. Census Bureau, includes

one-fourth of the households in the economy, when the households are
ranked according to income and divided into categories with an equal share
of income in each category.

arandom sample of one-fourth of the population.
onefifth of the households in the economy, when the households are ranked
according to income and divided into categories with an equal share of
income in each category.

arandom sample of one-fifth of the population.

one-fifth of the households in the economy, when the households are ranked

according to income and divided into categories with an equal number of
households in each category.
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/ Question 14 3 points

The Lorenz curve is a way of showing income distribution. Which of the following is
correct?

/@ A The vertical axis measures the percent of total income, and the horizontal
‘axis measures the percent of total households.

() B. The vertical axis measures the total number of households, and the
horizontal axis measures the total income.

() C. The vertical axis measures the total income, and the horizontal axis
measures the total number of households.

() D. The vertical axis measures the percent of total income, and the horizontal
‘axis measures the total number of households.

(O E. The vertical axis measures the percent of total households, and the
horizontal axis measures the percent of total income.
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+/ Question 15 3 points

The reason many firms pollute even though pollution imposes a significant cost on
society is that:

®@ O0OO0O0O0

A. firm owners donit care about pollution.
B. firm owners are greedy.
C. society refuses to pay to avoid pollution.

D. the benefits of pollution reduction are less than the costs of pollution
reduction to the whole society.

E. None of these.
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‘The table shows how income was distributed between different quintiles of the
population, from the lowest-earning households to the highest-earning households.
Which statement is best supported by the table?

Quintile Lowest Second Middle Fourth Highest

% of
income 3.7% 90% 151% 233% 49%
(1996)

% of
income 4.1%  10. 17.4 i .
21970) 08% 17.4% 245% 43.3%

Click here for long description

() A. There are more low-income households in America than high-income
households.

+/ (® B. 20 percent of the country in 1996 made almost half the income, up from
1970.

() C. 49 percent of American households in 1996 were in the highest income
bracket.

(O D. The share of income among middle class households grew between 1970
and 1996.

(O E. The percent of households who make the lowest income shrank since 1970.
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+/ Question 17 3 points

What are the tools the U.S. government uses to redistribute income from higher income
groups to lower income groups?

() A. Regressive income tax, the minimum wage, and transfer payments

/(@ B. Progressive income tax, the minimum wage, and transfer payments

() C. Regressive income tax and the mi

mum wage
(O D. Minimum wage and transfer payments.

(O E. Progressive income tax
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+/ Question 18 3 points

An externality is created when others enjoy the benefits or bear the costs of someone’s
decision:

(O A evenwhen the decision-maker doesnt take these benefits or costs into
account when making the decision.

/@ B. onlywhen the decision-maker doesnit take these benefits or costs into
account when making the decision.

(O €. only when the decision-maker is aware of these benefits or costs.
() . ceteris paribus.

() E. None of these
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+/ Question 19 3 points

The poverty line for the U.S. is the income level that marks the maximum income a
household can earn and still be considered in poverty. It

(O A equalto the US. Department of Agriculture’s minimum food budget.
(O B. unrelated to the U.S. Department of Agriculture’s minimum food budget.
(O C. fourtimes the U S. Department of Agriculture’s minimum food budget.
(O D. twice the U.S. Department of Agriculture’s minimum food budget.

/(@ E. threetimes the US. Department of Agriculture’s minimum food budget.
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+/ Question 20 3 points

The government intervenes in the prescription drug market and engages in extensive
testing before approval of new drugs. This is an example of government intervention to
solve:

/(@ A. imperfect information.
() B. anegative externality.
(O . the free-rider problem
(O D. non-competitive behavior.

() E. None of these
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+/ Question 21 3 points

Which of the following is an example of  public good?

(O A National defense
() B. Strestlights
(O c. Lighthouses
+/(® D. Allof these are public goods.

(O E- None of these are public goods.
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/ Question 22 3 points

When public finance economists study tax incidence, they're looking at:

() A whether the tax s collected at the point of sale.

() B. whether the tax is collected daily, monthly, or yearly.
/@ C. who ultimately bears the burden of the tax.

(O D. whois responsible for sending the tax to the government.

() E. the quantity of revenue the tax generates for the government
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/ Question 23 3 points ~

When public finance economists study the distribution of income, they are looking at:

(O A the wealth acquired by different segments of the population from ownership
of assets.

(O B the activities of a benevolent dictator who doles out money to people in the
economy.

(O C. the wealth different segments of the population receive from the
government

/@ D. the income earned by different segments of the population from
employment and ownership of assets.

(O E. the income different segments of the population receive from the
govenment.
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/ Question 24 3 points ~

How would you find the U.S. median household income?

(O A Addthe incomes of all households in U.S. and divide by the number of
households.

/(@ B. Rankthe incomes of all houssholds in U.S. from highest to lowest and then
take the one that has as many above it as below it

() C. Find the income that more households earn than any other single household
income.

(O D. Rankthe incomes of all households in US. from highest to lowest. Then, add
allthe incomes to find a total, and divide that total by 2.

(O E None of these.
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/ Question 25 3 points

If a good or service is non-exclusionary, that means:

(O A. usebyone person does prevent other people from enjoying the good or
service.

(O B. useby one person doesn't prevent other people from enjoying the good or
service

(O €. purchase of the good or service isn'tlimited only to the upper echelons of
socety.

/(@ D. itsimpossible to exclude people from using the good or service.

(O E. itsillegal to exclude people from using the good or service.
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/ Question 26 3 points ~

If a good or service is nonvrival in consumption, that means:

() A itsillegal for people to compste for the right to use the good or service.
(O 8. its impossible for people to compste for the right to use the good or service.

/(@ C. usebyone person doesn't prevent other people from enjoying the good or
service.

(O D. useby one person does prevent other people from enjoying the good or
service.

() E. None of these
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/ Question 27 3 points ~

Welfare reform is intended to:

return welfare to its intended goal of providing long-term support to
households needing help for long periods.

get id of the welfare program.

make all welfare recipients go to work so wealthy taxpayers don't have to
provide any financial support for the program

help middle-income households by providing more financial support to those
households, in addition to the support provided to low-income households.

return welfare to its intended goal of providing short-term assistance to
households needing help during times of transition.
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+/ Question 28 3 points ~

Aprogressive income tax s defined as an income tax in which:

(O A people with higher incomes pay less taxes than people with lower incomes.
/(@ B. people with higher incomes pay a larger proportion of their income in taxes.
(O . people with higher incomes pay more taxes than people with lower incomes.

(O 0. people with higher incomes pay the same amount of taxes as people with
lower incomes,

(O E people with higher incomes pay a smaller proportion of their income in
taves.
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+/ Question 29 3 points

When the government passes new antrirust legislation, i’s trying to solve which market
failure?

(O A Imperfect informationm

() B. Anegative exterality

() C. The freeider problem
+/ (® D. Non-competitive behavior

(O E Noneof these.
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+/ Question 30 3 points

The idea that taxes should be paid by those who use or enjoy the goods and services
provided by the government is:

/(@) A. the benefit principle of taxation.
() B. captured by progressive taxes.
(O C. captured by proportionate taxes.
(O . the ability to pay principle of taxation

() E. captured by regressive taxes.
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